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Which of the following/is fiot a subject of the
Union List?
(I) Taxes on income
agricultural income
(2) Corporation tax
(3) Taxes on agricultural income
(4) Duties in respect of succession to
property other than agricultural land
According to Erik Erikson the ‘ego’ helps in -

other than

(1) Acquiring attitudes and skills
(2) Acquiring intelligence
(3 Acquiring conflict
(@) Acquiring visual clarity
Find out the correct statements about ‘Rights’ -

(i) Right assign statutory obligations to
the state to act in certain ways.
(i) Rights also include, what the state
should not do.
(iii) Laws made by the state can be invoked
by force.
(iv) Along with the state, social acceptance
is also necessary for rights
Code -
(1) Onlyi,ii,iv
(2) Only i, i, iii
3) i, i, iii, iv
(4) Onlyi,iii, iv
Which of the following party was granted
recognition as State Party on June 7%, 2019 by
Election Commission of India?
(1) Rastriya Janata Party
(2) Rashtriya Loktantrik Party
(3) Bharat Vahini Party
(4) Bahujan Samaj Party

Who said “The traditional theory of
sovereignty is a venerable superstition”?

(1) H. Laski

(2) R.M. Maciver

(3) J.N. Figgis

(49 A.D. Lindsay

1.

2.

5.

P 3 W G G B v T 27

(1) oW — g ¥ O o ® %

) M\ #=

() P — I W

) P YA A W AR B STRIBDR
F W9 W e

(1) sIFgREl o SR o 9ee §

(2) gfgw @ ik |

(3 gg & wig ¥

@) T WD B wm |

ARPRI & IR T T FUT Bifew —

() PR T H $P GE WD 9
PR FE B Jene IR g

() oPeR ¥ IE =57 ff mida & &
I B T T8l BT B

(i) I R T S soqd® arFg 8
RETES

(iv) IOPR & R =0 & Wy &
ArIoTE WeRar ff angzas 2|

@_

(D) &9 i, i, iv

(2) ®ad i, i, iii

Q) i, ii, i, iv

@) Bad i, iii, iv

f=foRag 9 9 59 a0 @ 9Ra & FaE

RN §RT 7 S[H, 2019 I T &l HY AT

Y& B 187

(1) I e uiet

(2) TSN AHdiEE gl

3) WrRa @ 9ref

4) g I UIe

e 39 918 R § —

(1) T D

(2) IR T HPER

3 . . Bhe

@ u 3 folsw
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6. Which of the following is not included in the 6.
Directive Principles of the policy?
(1) Freedom of speech & expression
(2) Uniform civil code
(3) Prohibition of alcohol

(4) Promotion of cottage industries

7.  Who of the following considered ‘Republic’ of 7.
Plato, the best book which is written on
education?

(1) Marx
(2) Rousseau
(3) Bentham
4) Gandhi

8. During the tenure of which of the following 8.
" Prime Minister, The Representation of the
People Act, 1951 was inserted in the Ninth
Schedule of the Constitution?
(1) Gulzari Lal Nanda
(2) Indira Gandhi
(3) Morarji Desai
(4) P.V.Narasimha Rao
9. Read the following statements carefully and 9.
choose the correct option regarding ‘Rajasthan
Vidhan Sabha Elections 2018 -
(1) The total voting turnout was 62.50%.
(2) Maximum voting percentage was in
Jaipur district.
(3) Minimum voting percentage was in
Jaisalmer district.
(4) Voting percentage of women was more
than men in the entire state.

10. 'Which country’s visit was named by Nehru as  10.
“Voyage of Discovery’?
(1) The Soviet Union

(2) America
(3) Egypt
(4) China

e 9 | wn AR e 9@l | e @
a?

(1) 9% g A a1 e

(2) |FF TMR® W

(3) wEmE e

(@) F{ER SN BT TEET

fifea F 9 fan < @ ‘Rufsss’ @1
R w forar o walkgpe 97T oEr 87
1) e

2 w4

(3) M

@ e

fafeRag & @ 59 T ® Friee |
WM @ Gl SRR H Sl
afefE, 1951 Fa=enita foar e

) IR AT

(2) iR TE

(3) HRRSN w9

@ W 9@ =Ry e

Ao fEeET g 2018 @ Rwg H

Fr=foaa oMl & =9 | uigy R w8

FT TEATY — .

(1) ¥ §7 7a8F 62.50% BT |

(2) HI SATRT AR Uik SagR el
1 <=

(3) 99 TH AAS A weerR T
BT RET|

@ vl = # ARt & waeE
wiee gl ¥ e &

g% A 59 <w 9 9Er F wEd gEr @

T o en?
@ gy <@g
2) 8@
3

@ 9=
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11. Match the following -  « 11.
List-X List-11

(A) Printer (i) Output device used
to display

(B) Monitor (ii) Input device used to
select and display

(C©) Keyboard (iii) Output device to
make copies

(D) LightPen (iv) Inputdevice

A B C D

1 @ @) (D) (iv)

2) @) 3@ (v (ii)

3 @ @ (i1 (iv)

@ (i1) (i)  @Gv)

12, Which one of the following statement is 12.

incorrect?

(1) Parliamient has the power to make laws
for the whole of the territory of India,
any part thereof.

(2) The state legislature can make laws for
the whole or any part of the state.

(3) Parliament has the power to make
extra - territorial legislation.

(4) Rajya Sabha can declare any subject in
the state list to be of national interest
by resolution of 2/3rd of its total
strength.

13. Multicultural perspective on Rights does not 13.
assume that -

(1) ‘Uniformity of treatment’ is necessary
for actual equality.

(2) Treatment of genuine equality with all
citizens is necessary.

(3) Accommodation of differences among
various groups of the society is
necessary for actual equality.

(4) Idea of Universal Citizenship is based
on difference - blindness.

14. Inthe concept attainment model at which phase  14.

of syntax, students generate examples?
(1) Presentation of data

(2) Identification of concept
(3) Analysis of thinking strategies

(4) Testing attainment of the concept

4 @ ii
ORIy

Fr=falRag &1 e Sifsie —

I ~1 A - 11
A fiex @ v o wgE

FHTSTYT JUDI
(B) #FRR (i) TSR WM W

‘-‘Ngéll hT UG 'QET
geee  Bg  ugE

TTYC IUPRI
(©) F — TS () IR W U e

d UgE  IMSCYC

SECa]

(D) @R U (iv) TS SUD
A B C D

1) @ (i) (i) (iv)
2 Gii) @) (iv) (ii)

3) Gii) @) (i) @(iv)

(i)  (@Gv)

TF BT

=14

(1) J9g B 9Rd & HYUl o9 I7
SOo e 9T & forg fafey s9= @51
?Iﬁﬁ%lh -

(2) o9 DI [GYUFATS
g9 fedl wrr & faw Ay s+
TehelT 2 |

(3) S DI oUETRIT (e €91 B
il U B

(4) TSHFAT JAUAI qo G D 2/3
mzﬁwﬁﬂ—q@a%ﬁﬁ%

P AT HE Giud B

ﬂﬂo‘cﬁ%l

SRRl 1 gaiesiae giedvr 78 WioRr

T B, ﬁﬁ—

(1) I~dfde TaFar @ o ‘T S«
IEN AP T |

(2) W TRIRSBT B AT UTHIPRE FHeT
WWW%I

(3) I~afe wEHFEar & v me @
Aty wEl & W ™ @
TEARIS 3D & |

@) wdHERe GERed & @GEr g
— AT TR IERT &

g wity wfoms (Te ARy uiies) &

e (@ -~ fJzeiye) @ Sl sExen

Wﬁmaﬁeﬂmwﬁiﬁrﬁﬂ’mmﬁ%?

[ ISg AT

@) GuIg Witg &7 9GeTor
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15. A teacheris trying to direct his / her student’s 15, T& 3w 39 faenfial o ¥aomewe St
energy into useful and socially approved P SUERN R GHEINE A ARgH g7
channels of expression. This is called - e %g Tiferd ?ﬂﬁ BT T 6l & |

IE PEART & —
(1) Emotional balance (1) HIIeES e
(2) Emotional control (2) THE
(3) Emotional insulation (3) WP
(4) Emotional tolerance @) RIS e

16. Which one of the following pair is not correctly 16,  Fifra % & wivar g wd) Ao wei 872

maiched? (1) TR 3ifF e — &, TH. A
(1) Ethics of Chanakya - K. M. Agrawal ) Difcw P i R : T =
(2) Kautilya’s Concept of Diplomacy : a . ﬁiﬁéﬂ:{ qTedT ﬂ@ﬁﬁ

New Interpretation - Bharati Mukherjee 3) W{ﬁq@'ﬁ —_ & @ T
(3) Kautilyan Jurisprudence - V. K. Gupta @) e i v et —
(4) “Kautilya Arthashastra : An Appraisal” E@ﬁ' M :

- Pushpendra Kumar ]

17. Henry J. Hyde Act is related to which of the 17. for=foiRad § & ®9 % ol TES Tae 9

following? TR 87
(1) India - Russia strategic deal (1) 9Rd — 9 GMRe GAgiar
(2) India- USA civil nuclear deal (2) 98T — ERST TAERE A
(3) India - China border agreement T
; _ Sor trade deal () 9RT — A 41 |SEsi

(4) India - Bangladesh border trade de @ R — SiveTaeT ST =R ST

18. Who discussed three elements : factual, casual 18. JoMIa® RIgFd § &9 T@f @ dea®,
and valuational in political theory? PROTHAS AR IS B Fai foaw Bi?

(1) Karl Marx (1) il AR
(2) David Easton . (2) sfos swF
(3) Karl Popper () T AR

19. With which Treaty did the European Union 19. RUE |9 7 RUR WEE 1 =9 o
replace the European Community? W 9 forar?

(1) Westphalia Treaty (1) dIwiermr & Gy
(2) Maastricht Treaty (2) weT WY

(3) Versailles Treaty 3) T G

(4) British Treaty (4) fafesr -ﬂ-@r

20. What is the correct chronological order of the 20. SFSHY & oias \gsl 1 Treel &1

following events related to Ambedkar’s life? PITHA T 27
I Publicatiop:-of Annihilation -of Caste 1 Q’ﬁ'%é’g‘l?-[ 31 BIRE PT B
II  Mahad Satyagraha I 8 99UE
I Publication of Mooknayak Il T EF BT TBRE
IV  Establishment of Bahishkrit Hitakarini v q%ﬁi,—cr e Tar % e
Sabha ‘
-E‘_\R —_—

C(‘;‘)ie'l — , 1) IILILIV
@) IiI ’IV ’H X 2y ULIV,ILI
3) IV?~III, OI 3 IV,ILIOI

1L 1 @ I,IV,0L1
4 HIV,IOLI
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21. Which one of the following model is not 21. fFmifdsa # & Siar wfow™ (e SEw gRT
propounded by Robert Dahl? afeaifea w8l s war 87

(1} Price model 1) I gkFE

(2) Bargaining model (2) <ieash ufeas

(3) Polyarchy model 3) W FIRE

(4) Equilibrium model (4) TR SRE

22. Read the following statements about India’s 22. WRa @ fqgw MO & Hed # -ﬁ"ﬂf?‘l@ﬁ
Foreign Policy carefully - T BT AFYED YT —

I  During the Cold War years, India I ogs P gl § YRg Y A9 ﬂa‘[ P
adopted Non-Alignment Policy in wFeu § Fﬁ-\remm & AIfY Ay
reference of military groups. T oo go.aE o deife ok ARG

I Inrecent years, technology and Indian ¥ T Sﬁlﬁr‘é’f IR ¥ 3T Sut g
- American diaspora have brought the FoTeE o fear 2
two nations close. N

Choose the correct option - el trgTalTﬁ'Q
. ; (1) IWErgIaTed s

(1) Iistrue and Il is false : . .

(2) Tis false and Il is true (2) 17T 3 I ¥R 8

(3) Both I and TI are true (3) 19 I3 el &,

(4) BothIand II are false @ 1790 3Hf e &

23. Match the following - 23. fy=faRan &1 e & -
(1) Spirit of Laws (@) Maciver (1) RaRe sfiw dfg (@) HPEw
_ (2) Federalist (b) Montesquieu (2) BIURE b) . Tﬁé"&fq\

(3) The Modern State (c) Madison 3 THElE we (©

(4) Considerations on (d) J.S.Mill @ aeEFE 3 @) @f v, e
Representative Aoy e -
Government i
1 2 3 4 T 2 3 4

Wb d ¢ a M b d e a

b c a d @ b c a d

@ d ¢ b a 3 d ¢ b oa

(4) d c a b (4) d Cc a, b

24. After Independence, universal adult franchise 24. d=l RECIRUIN) # gerg ik # aEdHm
in Indian electoral process was first used in - TR BT AW ST fhar Ty —

(1) Punjab (2) Rajasthan () domEF (2) TR H

(3) AndhraPradesh (4) Manipur 3) T Tey o (4) qfﬁrgq 1

25. According to Kautilya ‘Bhayopadha’ is - 25. BT & ITEAR qEET L —

(1) A type of soldiers N [ 1@ TER

(2) A tax collection strategy 2) = THAIGRO] I FRAIT

(3) A way to control ministers (3) whkEEiw ﬁ-q;m & awﬂa—;r

(4) A policy related to other states @) TE oI Gl DY

26. According to Mayer and Salovey, which oneof 26, "R 3R qaldl & ATUR, GNP gﬁ‘a’ 1]
the following feature is not included in the g & Freffeg § ¥ B T Eg]
definition of emotional intelligence? Tftaferg =721 fpar T B?

(1) The capacity to perceive emotions (1) 9T IuEiENeT B FHen

(2) To control emotions of others @ TR D Ha @1 e

(3 To integrate emotions in thought @) T wr-RER ¥ oo

(4) To understand and manage emotions @) G e O e
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27. Matchlist - I with list - IT and select the correct
code -
List -1 List - I
(Provision) (Article)
(a) State Election (i) Arxticle 243
Commission -K
(b) Powers of (i) Article 243
Municipalities etc. =W
(c) Formation of (i) Article 243
Municipalities -Q
(d) Term of (iv) Article 243
Municipalities -U
Code -
(1) a-iv, b-iii, ¢-i, d-i
2) a-i, b-ii, c-iv, d-iii
3 a-i, b-ii, c-ii, d-iv
4 a-ii, b-iii, c-1, d-iv

28. In December 1991, which republics declared
that the Soviet Union was disbanded?
(1) Russia, Ukraine, Belarus
(2) Ukraine, Georgia, Estonia
(3) Ukraine, Belarus, Georgia
(4) Estonia, Russia, Georgia
29. BAMCEF stands for -
(1) Backward and Minority Communities

Employees Federation
(2) Backward and Minority Cultural

Educational Fund

(3) Bihar and Maharashtra Cultural
Economic Forum

(4) Bahujan Minority Cuitural
‘Educational Forum

30. Which of the following concept does not
belong to Plato?
(1) Noetic men
(2) Doctrine of invisible hand
(3) The golden cord of the law
(4) The state as an ideal

31. The correct sequence of the words mentioned
in the Preamble are -

(1) Secular, Justice, Liberty,
Integrity of Nation

(2) Justice, Secular, Liberty,
Integrity of Nation

(3) Liberty, Justice, Secular,
Integrity of Nation

(4) Secular, Liberty, Justice,
Integrity of Nation

Unity and
Unity and
Unity and

Unity and

27.

29,

30.

31.

— I &1 U3 e e e a8
SRl e

A -1 Ot -1
CIEE) 3‘g?)
(@) <" FaEE @)
ST o 243-¢
(b) “RUTCTRISA (ii) 'sr:],%é-q" 243
(c) Rl T (i) GT:F@'Q' 243
RIS
(d) TRUfeFERi @ (iv) aﬂaiam
3rafey

@we —
1) a-1iv, b-iil, c—1i, d-i

(2) a-i, b-ii, c—1v, d-iii
3) a-i, b-ii, ¢c—iii, d-iv
@4 a-ii, b—iil, c—i, d-iv

femdar 1991 ¥ Wifdgd |9 9 TG &

HIYOT 6= died TORTSY & —

(1) w9, I, JAEd

(2) T, Siiferan, eI

(3) T, JaTeN, ST

@) IR w9, SR

BAMCEF ¥ T & —

(1) P9 TS ARAING  HYFCN
TR BexeH

(2) 9H9S TS HEAIRG  Hoaxd
TSI HS

3) EQ@WWW

(4) ITOF, AIEAHING] HEEaRe QO[DHe
HIRA

Fr=ifeT 5 9 oF 1 g <e 9 qdfte

&} 87

(1) -gfes {9

(2) 5™ B & e

() FFF &=l — gA

(4) TS TP AR & WU H

SRR # afvla vl & 9d B9 @& 87

(1) vuFRUE, W, WoIdan, UK 6
T SR srEvsdr

Q) = vitRuE wWdEdan W B
THar AR IRgvsdl

3) wEa, =, dufRue, IS @)
Thar AR TSl

@) dufRuy, <@ dEE, WE A P
Tpal AR aRgvsal
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32.

33.

34,

3s.

36.

“For a new world, new Political Science is
required.” Is a statement of -

(1) Machiavelli

(2) Tocqueville

(3) Laski

(4) Arthur Bantle

With reference to the major concepts or
premises of input - output analysis of political
system given by David Easton consider the
following points -

I System
II Load
III Response

IV Persistence
Select the correct answer using the code -
Code -

(1) OnlyIand III are correct

(2) Only!I and IV are correct

(3) Only II and IV are correct

) I, II, 11 and IV all are correct

Who said, “Congressional government is
committee government?

(1) Woodrow Wilson

(2) M. Russell

3) V. Wright

(4) H. Gardner

A federal system with a strong central
government in the constitution of India has
been borrowed from -

(1) The American Constitution

(2} The Canadian Constitution
(3} The French Constitution
(4) The Irish Constitution

In which model of the international system of
Morton Kaplan, each state is equally poweriul?

(1) The Balance of Power System
(2) The Universal System

(3) The Hierarchical System

(4) The Unit Veto System

32.

33.

34.

35.

36.

"t ¢ 95 @ fow U wornioere @
JAMEEIFHAT B HUT & —

(1) Afbamaed

(2) <ci®fad

(3) <R

@ omR e

s $v2 gr1 ufuifed IoHIfae arawen &
frrer — Rl fweimor &7 Wi s/qeRenel] a1
AT & TaH A Frferfan fageil & R
BTG —

I egaeen

I 4R

Il argfshar

IV e

fE BT TAN FA g F&l IR Gy —
Eb_d""‘

(1) @ad I 79 I |81 €

(2 Haalvd IV 8 &

(3 ®HIa Il wd IV 98 §

@ LILIITE IV aft @ &

e w1, HieEa (i) awer affy
TNGR 87

1 = R

2 TR

(3 91 %ige

@ T TR

YRG & W § te gvEed e aren
HeeHd Sgavel ol T & —

(1) ARl & g™ o

(2) BT F Gy |

3) wE o A=

(4) IRReis & AU 3

HieA HUAN B ARSI FJaRi [
Higel ¥ Y oy GHM U 9 Ifaaeiel 27
(1) wifd a=ger wrasen

(2) HEGHH ERRT

() srfiag Fawen
@) o FEneR waver
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37. Which of the following statement is correct 37. Tifha Foml H & S FUT IASRT B
about the powers of the Governor of Rajasthan? ISTUT & ARTAT & IR H Far 87
(1) He cannot dissolve the assembly. (1) 8 R ¥ 181 &% 6|
(2) He cannot issue ordinances. (2) U8 SEARY NI T8I BHY FHdT|
(3 He cannot nominate members to the (3 @8 furen § wew @) waEe
assembly. T8 PR T | i
(4) He cannot remove members of State @) 98 IS i [aT SAENT B g
Public Service Commission. 48 B¢ Hepd] |
38. Which one of the following statement is related 38, f=ifoifaa # & S oA e m=dsm=
to Educational Psychology? ¥ g 87
(1) Itis a normative science. (1) I8 & Frawe e &
(2) Itis a perfect as natural science. (2) IE WIPHhae R{EM 3 wE of &
(3) Itis a pure psychology of science. (3) ue g @ e AR 2
(4) It is a science related to teaching and @ Tg Rrw vd afrm ¥ wEtug
learning. faeT
39. Who among the following has given conceptof 39. woFifd & “fye s & aron e
“Pure Theory” of politics? &7
(1) B. Jouvenel @ qaﬁa
(2) Jurgen Habermas (2) i gewEN
(3) Amold Brecht (3) orFies s&
(4) Meehan @ -ﬁﬂgr.:{ -
40. According to liberal theorists, what is the just 40. SIRANTT & AR, SRFAAT B TWISAT D
way to eliminate inequalities - AT g9 I BT IRl T § —
(1) Free and open competition Q) &dw g qgsfﬁ GES :
(2) A written and rigid constitution (2) R 7 wor At
(3} Stable government (3) TR WHR
(4) An educated society @ Rilm e
41. Read the following statements carefully - 41. =1 Tl &7 sae 9§ ufey —
I  The Socialist party was established in I Sreforee uidl o5 wemgET 1952 ° g2 |
1952. I  IE 9E] s 4 w18, A6 GHeag
II  The party only believed in socialism ¥ RzarT wEdr oY)
and not democracy. al RAigey ggafAy —
Identify the correct option - 1) 1699 I Ted &
(1) [listrue, IIis false @) 1o 9 I E a2
(2) Iis false, Ilis true 3) I. T I =91 | s ¥
(3) BothIand II are true ) 1911 e Tog &
(4) BothIand II are false
42. Which one of the following is not related to 42. f=fiRag & 4 oMWl & IIERAA
behavioural approach? gftepior ¥ e == 87
(1) Knowledge is an end in itself (1) S ST a7 % W @
(2) Belief in knowledge for the sake of ,
knowledge @ = % oy s A e
(3) Emphasis on analysis of the content of (3) o Ui &) oI e 1 aeg
the decision rather than the decision — g & ATy W g6
making process WRIPR e
(4) The main concern is with pure @ g—@] & AT AR |
knowledge or theory.
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43. Which of the following is not correctly 43.

matched?
(Name of Book) - (Author)

(1) 2014 : The - Rajdeep Sardesai
Election that
Changed India

(2) Winning  the - Bidyut
Mandate : Chakrabarty and
The Indian Sugato Hazra
Experience

(3) Why ° India - Yogendra Yadav
Votes?

(4) The verdict - - Prannoy Roy and
Decoding Dorab R.

India’s Elections Sopariwala
44. Who of the following is not the supporter of 44.
Negative Freedom?
(1) Philip Pettit
{2) Quentin Skinner
(3) Hobhouse
«\(ﬂl Isaiah Berlin

45. From the-following select the group having 45.
Federal System -
(1} Canada, India, Australia, Argentina
(2) Brazil, Canada, China, New Zealand
(3) India, Canada, Britain, Bangladesh
(4) Canada, India, Bangladesh, New
Zealand
46. Which of the following pair is not cofrectly 46.
matched?
(1) State represents the - M. K. Gandhi
organised violence
(2) State is an - Karl Marx
expression of class

struggle

(3) State is an - Laski
association of
associations

(4) Stateis priortoman - Machiavelli
47. 'Who among the following is the author of the 47.

book titled ‘International Equilibrinm : A
Theoretical Essay on the Politics and
Organization of Security’?

(1) Morton Kaplan

(2) George Liska

(3) C.D.Bums

(4) Quincy Wright

rrfeiaa § @ S g wd) wafoa =il

3_
(qT &7 ) (eTErp)

(1) 2014 :T Sa®F - VORIY WWEEE

(2 RTTde: - fgg =l
g e @ik BNISI]

YRAUTRIT BIORT
@) T R Ay — AN AT
@ T deFwe - - o Mg AR
FARN GIEISCIE

FilsT § § B9 TeRAe WdIar @l
T A8 27

(1) fsfem dfee

(2) wfed Re®

(3) Zigsey -

(4) 3NSEEE e

HUTHS HeeT aTall g Bifey —

(1) TSI, 9Rd, JAffemT, AT
(2) oSl Tl A, golicve
(3) 9Ra, BT, f§eH, iFemey
(@) B, IR, IR, RS

Frifda & @ Sirar gaferT & 87

(1) I HodaEs far — ™ B,
ST YR war @ e

(2) T T — duad W — Pl A
Afefag B

(3) U WERT  $F — @l

@) M ART A UET 8 — Afeaded

g # W N SenEe efdateleas
U arfedha T IdF T difaieed ds
Sifi-IgeiR o REiReEy e gwe @
oEF 87

1) Hidw wyam

(2) <SSl foremr

3 LI sd

(4) T~ WEe
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48. Indiadnd Sri'Lanka bothare the members of - 48. WRd 3R sheiar <} waw & —
(1) SAARC, SACEP, SCO (1) ¥, TATHSL, Tl
(2) SAARC, SACEP, BIMSTEC (2) e, WIdEa, e
(3) SCO, SACEP, BIMSTEC (3) vadE, wmuiIh, s
(4): SCO, SAARC, BIMSTEC @) TEdaL, 9, s
49, List the events showing America’s supremacy 49. %g ¥ sMRe®T & awiva & g9 el Te
inthe world - .. Bifey —
(i)  Operation Desert Storm i) 3ffeE 3w <F
(i1). . Operation Infinite Reach (i) SifuReE SAFIgTREe 9°
{iii) ~Operation Enduring Freedom (i) SifREF TR wiew
. (iv) Operation Iragi Freedom (iv) SifRe SIbt Wied
Code - 7T -
(D) Onlydii 1) @I i, i
" (2) -Onlyi,iii @) e 1, iii
(3) Only i, iii, iv 3) e i i i
@) i, i, iii, iv ) L I, 1v
: _ ; @) i,1i,iil,1iv
50. "Which of the following is not included in the 50. ¢ Rrederer @ Wad # el T & AR
‘Principled Distance’ regarding Secularism? ¥ fyifeg § 9 affea T8 2 —
(1) " State can interfere in religious matters. (1) = gffe TFdl § F9EaY X
(2) Interference of state in religious BT 2|
matters ‘must be 'coI}e‘_rent with the @) uiffe AMel # TS BT EEl
liberty and equality of citizens. AR & el ol wEEer o
(3) State can,make laws on the basis of g T TR '
_ rationality. o () ISY aifsar ® IER W UIED
(4) State remains neuntral in religions 3
X '“matters : DI T HHC & |
. (@) =T oTiEE AWel § qewr e 8
© 51, Wh]ch one of the followmg pracuce is not 51. D ARaw & grareNer ¥ % —
mcluded in’ constructive Ieammg environment? 1) <fpg AR
(1) Active léarning " ’ (2) HEHIRr
(2) Collaboration _ilt" @3) 9§~ R
(3) Multiple persp’,ecti'\‘%zes @ Pl een e
(4) Controlled class discipline
1
52. Which one of the following was criticised by 52. frafaiaa # & f&w Uo 41 o 5 &gl
Bentham in his work ‘A Fragmient on Py e sl Tae ¥ oreEET B2
Government’? . '
(1) Commentaries by Blackstone (1) <FRA B G
{2) Hobbes’s Leviathan (2) g B iR
(3} Bodin’s ‘The Six Books on the @) 9T # ‘g Rew g9 o T
Republic or State Rufsas &k we'
. (4) Grotius’s The Law of War and Peace @) wmfcaa A ‘g <f oife dik e =’
2-@ Page 11 of 32




53.

the following is supernational actor?

0y
2
3
@

54.

Correctly match the following books and their

United States of America
India

Iran

NATO

54.

anthors using code given below -

®

(it)

(iii)

@v)

Code -

0y
2
&)
C)

55. In which of the following options Supreme

(Book) (Author)

Politics of Scarcity (a) Rajni
Kothari

Caste in Indian (b) Myron

Politics Weiner

‘The Modemity of (c¢) Paul R.

Tradition Brass

The Politics of (d) Rudolph &

India Since Rudoiph

Independence

@ (ii) @i} (@)

b a d c

d c b a

b a c

d a c

5S.

Court directed Election Commission to provide
NOTA option to the voters?

@
@)

3

@

P.U.C.L. vs Union of India (2013)

Navtej Singh Johar vs: Union of India
(2018)

Vineet Narain & Others vs Union of
India (1997)

P.U.C.L. vs Union of India (2001)

According to Kaplan’s system theory, whichof 53. $UelM & oo fgFd & WK,

fFfeRad § 9 ol sgedat €

(1) \IFT T FARBT

(2) 9Rd

@ =M .
@) e

Frfafaq gwe! a2 S o@®! @ 98
e @R —

(gwre) (o)
i) difafced AB (a) o™l
WHIRST @nma @l EIGIE]
TS
() @R 3T STF (b) HRERN
difafe (e, CIE
IS # o)
Gi) ¥ #sFE e @© dia
e (Wwr @ IR,
S E G E R3]
(iv) T difolee oifs d) veiew
SR Rig SR dire
TSITD
E“Fd_
@) (i) (i)  (iv)
@ b a d c
2) d c b a
3) b a c d
@ d a c b
frrfelRaa Fofal § 9 fow § gdte ~maen
9 Fate emanT @y Aier (NOTA) fise
HAGTTRT P Suers BRAM =g SR fear?
(D) WAL I T e i
(2013)
(2) “aaw Rig Siex 9 e S&iie
SfEar (2018)
(3) forlia REYT v o 9 iR
3l $heAT (1997)
@ DYgHTa TE g e g
(2001)

»2-@
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\ss.

Match List - I with List - IT and select the

56. A —I1® & ~ ¥ A BIRE AR &y

correct answer by using the code given below - MY ®HT H I e SR BT AT Bifog —

\\. List-1 List- H A -1 @ -1
(2) Primary Election : (i) Charles E. (@) U SR@RE: (1) W §
A study of the Merriam T WSl 3w T AT

History and et TTE
Tendencies of oo 3w
Primary Election TS ' SR
Legislation R
(b) Thg . Nature of (ii) Robert Dahl ) T TR A% Gi) Iee wmd
Politics o
(c) ghe . Decline of (i) J. _ D. B. © T R % @) w9 @
olitical Theory Miller T oY -
(d) Preface to (iv) Alfred )
Democratic Cobban @ Pvw g samies v) s
Theory oy GACE|
Code - %e —
(D) a- (i), b- @), c- (v), d - (iii) (1) a-(i),b- (1), c— (), d - (iii)
(2) a-(i),b-(ii), c - (iv), d - (i) ) a-(),b-(id), c~(iv), d— (D)
3) a-(i),b- @, c-{v),d- (i) (3) a—(iii), b~ (@), ¢ — (iv), d - (ii)
@ a-(@),b- (i), c- @), d- (i) @ a-(),b- (i), c - (iv), d - (i)

57. Who among the following used ‘Congress 57. fr=faRan o 9 e wRdY gy aawen
System’ terminology in reference of Indian & G ¥ DiUY IR A&ETgel] BT TN
political system? fooar 87

(1) Morris Jones 1) FiRE i

(2) Rudolph and Rudolph (2) TSI US BeIeh
(3) Rajni Kothari (3 & PIOR

(4) Paul R. Brass @) e AR T

58. 'Which of the following is accepted as Lohia’s 58, fforiag 4 @ f&d ofgwr & o= &

theory of freedom? Rigra @ w9 § WioR & o 87
(1) Theory of internal freedom (1 aRes sl &1 Rgra
(2) Theory of total efficiency 2) -\:min’r caa] BT g
(3) Theory of social freedom (3) MG e @l g
(4) Theory of self - evaluation @) @ — qeiea Bl e

59. Which of the following functions is not 59. ¥WRd @ Wi @ 1247 s # Fre=feriaa
included in f%?i ,}Zth Schedule of the ¥ PR B1d wite T8 Py g ¥
Constitution o ia? ST PR ud Foyetor

(I) Land use regulation and building OB A
construction 2) siftTeme Al

(2) Fire fighting services . . .

(3) Affiliation of the educational @) R wemt #1 Hage
institutions @ - g @ GolepRoT

(4) Registration of birth & death

60. How long is the term of Judges of the USA 60. SFR&T ¥ wWard A & <URERI B

Supreme Court? PRIGIE BlAT § —
(1) 9 Years 1 9Td
(2) 20 Years 2 209§
(3) Lifelong (3 <iaT o=
(4) None of the above @) gq;i—cﬁ #F i T8
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61. Which of the following statement is mismatch? 61. /=1 & & BT FoT 0T 87
(1) Social Justice a - F. A, 1) 9Ficed <Y TH — . [
worthwhile Idea Hayek aefe frar 2
(2) Justiceis the equitable - JohnRawls (2) g URIE TR BT — Wi -éf-@q
distribution of el feRor & ’/
 Primary goods () URGRF G F — AGHA
3) Jl'ance as a Remedial - Michael 57 F =y _\%a
(C))] ;E,ilrt.:;lt(;ement theory of - ;f:ii @ mﬁ B SR Q‘?—C:m
Justice Nozick
62. Consider the following statements mentioned 62. YRA™ <RYMM & Glﬂfv@'c{ 123 4 gffq
in Article 123 of the Indian Constitution - Fr=foRaa FeT W foar i —
I  President has power to promuigate 1 vxufy @ 99e & fasiferes o
ordinances  during  recess  of SEATSY YT PR B I 2
Parliament. I 59 o7 & onfle Teemfi s
II'  An ordinance promulgated under this T 981 91 &R TUIg B & 6EE B
article shall have the .same force and i BT 2 B
effect as an act of Parhame.nt. N S B R B @
IIT  Such ordinance may be withdrawn at
any time by the President. W A [ S
Select the correct answer using the code - e I TR R T W W g —
Code - @ -
(1) Only I is correct () Faet I & &
(2) Only I is correct 2) SIIH G B
(3) Only II and III are correct (3) @aaIl 3R I w8 &
4) I, 1 and I all are correct 4 110 3R I 99 wdr §
63. When was the United Nations Peacebuilding 63, WY I Wifcl RITGHT 3MANT &5 RIOHT &4
Commission established? %7
(1) 2005 (1 2005
2) 1999 (2) 1999
3) 2001 (3) 2001
4 2007 4) 2007
64. Read the following statements carefully - 64. 1 Tl @ = ¥ ufey —
I On 19" March 2003, the US launched I 19 9 2003 ! 3RIRGT 71 TFH W
its invasion of Irag. =1 Tven |
II 20 countries joined in the US - led I @RS oFEmE el “eflers
“coalition of willing.” e AT § 20 <% 59 THS H
III  The UN did not give its consent to the oifder o1 )
operation. Ul YT IS S $9 g9l B ARy
Choose the correct option - T8 & ot
M 1 W Rigeq e —
(2) TandIII M 1
(3) MMand I 2y I9I1
@ LI, (3 Hg
4) LI HI
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Which constitutional amendment act inserted  65.
the word ‘Sovereignty and Integrity of India’ or
in Article 19 of the constitution?
(1) 42" Amendment
3 (2) 44"™ Amendment
\ (3 16" Amendment

\',‘ (4) 38" Amendment

66 Tn the context of Cold ‘War, Mutually Assured
+ Destruction, (MAD) is related to which of the
\ following?
*(1) Principle relating to.a military strategy
*(2) Subsidies and sanctions policy
(3) Economic blockade theory
(4) A soviet plan as response to the
marshall plan
According to  Aurobindo
interpretation of Nationalism is -
I  Rationality I Creed
Ol Voiceof God IV  Materialistic
Choose the correct option -
(1) Only I and II
(2) Onlyland I
(3) OnlyIandIl
4) OnlyIll and IV
Use of Teaching Learning Material during
teaching helps a teacher in -
(A) Motivating learners
(B) For longer Retention of information
(C) Organizing learning experiences
(D) Facilitate holistic learning
(1) A,BandD
2 A,BandC
(3 B,CandD
4 A,B,CandD

Who suggested io 'American policy - makersto 9.
“Exercise self - restraint while achieving
national interest”?

(1) FE.M. Padelford

(2) Joseph Frankel

(3) Stanley Hoffinann

(4) George Kennan

66.

67. the correct 67.

68. 68.

69.

70. Which of the following statement is not correct
regarding the Procedural Justice?
(1) Procedural Justice supports the market
economy.
(2) It assumes that every individual has

70.

IFESE 19 # MRA @ WA SR SEdsar a1

WeRT B STwRT fFar T

(1) 427 FaeE

(2) 447 =R

(3) 16" deirem

@) 387 duEE

WG gE & wew A IRERE gf CRIN

(s) o1 ey F=faRea § @ 2?

(1) TF dF® o 9 Sefe gl

(2) wfeaS ik ufeamy @1 i

(3) onftie <! &1 R

@) AR I & TgRR & B9 4 U
IR ISR

IRfT & ITOR TR P ARAT § —
I  aidear I TF TR
M S¥R ST el v Aifgead
e fowen & —

(1) ogd I R I

(2) Bad I &R I

(3) ®ad I &R II

(4) ger Ul 3N IV

Rreror & SR BT — St aREl) &1 v
R @ FEar dRar g —
(A) Rremil & afmlka o §
(B) I P oid T TP GNT B |
(C) SRR T BT AT B H
(D) T SARFH e H
1 ABUTWD
2 ABUWC
(3) B,CUD

A,B,CTgD
aﬁﬁaﬂ#ﬁﬁﬂiﬁr&fm‘r Ty f2a) @ fafg
P YIS FN §Y SATHEIH a_a” B W
e Gl o —
(1) Th . USomis
(2) CIN% Hhod
(3) el Bfwae
@) i B
uftharcds =R @ el ¥ fifea § 9 o9
1 B gl el 87
(1) v O SoIR — JeiEraRen

BT THdT HaT |

responsible for his/her position. @) vF =R awn Refld & e
(3) Every individual has individual TRERY BT §
entitlements. (3) = g & U FfdaTa shQiRal
(4) P}'oduction and Distribution are 2 ¥
different. @) Sered 3R e A= ¥
12- @ Page 15 of 32




FFreifoiRaa & & B v ST g aftiay
IoHIfae 9oy &1 srawen 98] 87
(1) wgig = TeFRT

71. 'Which one of the following is not a stage of 71.
Political development described by Organski?
(1) Politics of abundance
(2) Politics of Industrialisation (2) SiEfrdieer & o
(3) Politics of Modern Unification (3) Wﬁ?ﬁ THITROT BT TS !
(4) Politics of National Welfare @) SR A BT B IO j’
72. Which one of the following steps is not 72. fy=ifefaa & & Fwar vg womeh SyFe
involved in a system approach? wfeafera <781 87 7
(1) System software 1) YOIl AYeaIR ¥
(2) System analysis (2) Yvilell fweryo
(3) System design and development 3) IRl wuvEEr o) Qe !
(4) System operation and evaluation @ el frarae ek 415«’-”47-1
73. Who among the following coined the term 73. fFr=ifeiRag & 9 foam daie &)
‘Children of Light’ & “Children of Darkness’ SfFTEEast it & Ry whE B Har
for democratic and totalitarian forces? 3R ‘SEfpR B Ha ugEe IR fhare
(1) Woodrow Wilson D) T R
(2)  Quincy Wright (2) Fa=d e ’
(4) Georg Schwarzenberger @) ST TR
74. How many national parties contested in first 74. WRG d YA Apadr g 1952 H fHaw
Lok Sabha Election of India held in 19527 I gal 5 9T forar en?
® 12 (2) 13 (1 12 2 13
3 14 @ 15 3 14 @ 15
75.  Use the code in order to match list-I with list-I1 75, ¥EI—131 @I ¥ e SIRTG o 6e &0
give answer - TANT R §Y Wl SR QIig —
List-1 List - X1 gl -1 qggr\;g
(Phrase) (Thinker) (Fgee) ( )
(a) Polyarchy (i) Benjamin (2) dgoaA @ sofE
Barber CIEES
(b) Dictatorship ofthe (i) Tocqueville (b) sgHT P (i) <ldidet
majority RIGINIE)
(c) Weak democracy (iii) Robert Dahl (¢) NN dHax (i) e sEd
(d Iron law  of (iv) Robert (@ Yeda @1 diE (v) e
oligarchy Michels IREE] & Eirgsl
Code - HT —
(1) a-(ii), b~ (@), c - (i), d - (iv) (1) a— (iii), b - (@), ¢ — (i), d — (iv)
(2) a-(@v),b--(ii), c - (i), d - (3) (2) a-(v), b— (iii), c — (i), d - ()
(3) a-(ii), b~ (ii), c - (), d - ({v) (3) a-(ii), b - (i), c — (i), d — (i)
@) a-(i),b—(iv), c~ (i), d - (iii) 4) a-(i), b-(iv), c — (ii), d — (iii)
76. Which of following pair is not correctly 76. f=ifdd # & wivar gwr gaferT =&f 872
matched?
(1) Fair Equality of - John Rawls (D) s B SR - §E e
Opportunity KSNIGGI
(2) Complex Equality - Joshua Cohen ) <ifed waFar — QR
(3) Equality of - Amartya Sen CIEG]
Capabilities @) e @ WA - o
(4) Equality of - Dworkin @) TORF B wAEW —  sdfe
Resources )
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7. Who among the following called adult suffrage  77. fr=ifeifad § 9 wawp HATEBR CARRCNET
“Vast spoliation’? e B Gl 3 9 faRs § —
(1) Lord Macaulay (1) dfs dpfai
(2) M.R. Lackey (2) TH. IR Ll
(3) James Stephen 3) o= &EBd
(4) Henry Man @) BT =
78. When a public official fails or refuses to 78. 4 ®iE wWevHe ugRen o FEiRa
dlscharge his or her designated public or quasi Hae 1 FdeT el S et FdE R
pubhc duty, which of the following writs is J I BRAT §, O IROE SRuE & Sﬁ'—b@?{
issued under Article 32 of the Indian 32 & sfia Fr=falad § & Sir e
Cons.htutlon to make him/her perform that TR B} 94 USTRIET H1 o feiiRa wder
des1gnated duty? fodes & forg emefm forar e 87
1)) andamus (1) u=ERY
(2) Prohibition (2) wfover
(3) Céorari (3) <SS
@ Qu%\\\’&lfarranto @) PR g
79. “The British Constitution is the father of 79. *fafesr fawm <Rl &1 oFid & SRk fWfewr
Constitutions*& The British Parliament is the g WERT B S B | IS H T 87
mother of Parliaments.” Is a statement of - 1) TR
(1) Munro 2 s
(2) Dunning (3) oEIE
(3) Bagehot @) T TR
(4) Ramsay Muir
80. Maximum member countries of Non - Aligned 80. ¢ FrRus Jidle & obpaq Wew 2
Movements belong to which of the following fr=ifee § & g a3 @ &2
region? (1) THiHT
(1) Africa (2) ulEmr
(2) Asia (@) afeT e
(3} Latin America @) ?{\’Tq
(4) Europe
81. Which of the following group of words is not 81. fr=ifera # § ST g TG UheR Uod
coherent with the characteristics of a secular B faRmamRl & g T8 87
state?
(1) Peace, Intolerance, Religious Freedom (D wife, srafewan, nfis wad=mr
(2) Peace, Tolerance, Religious Freedom () wify, g, i we=mr
(3) Hegemony, Peace, Tolerance @A) ke, Tif, ﬂ%ﬂﬂ?ﬂ
(4) Hegemony, Peace, Religious Freedom @) aka, ik, enfife wdET
82. In which Ievel of moral development according 82. ®IEeET & FUR, AT RAFa @ D
to Kohlberg, the individnal develops a true e ¥ R F G iy o o we uws
understanding of right or wrong and a true ]
moral consciousness? vd W) e e 1 e g 87
(1) Pre conventional reasoning (D 1{5‘[ — URERTTT TR0
(2) Conventional reasoning (2) UERFIE qe9T
(3) Post conventional reasoning (3) T — URERET TS
(4) Non conventional reasoning @) SIIREGRFTE ey
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83. Which of the following is not criticised by 83.
Mahatma Gandhi?
(1) State
(2) Varna Vyavastha, :
(3) Sovereignty o
(4) Parliamentary system
84. Which of the following pair is not correctly 84.
matched?
(1) Appointment of acting Chief Justic. -
Atrticle 124
(2) Appointment of ad hoc Judges -
Article 127
(3) Supreme Court to be a court of record
- Article 129
(4) Special leave to appeal by the Supreme
Court - Article 136

85. Consider the following statements regarding 85.
Liberty -
I  Gerald MacCallum defined Liberty on
the basis of the Triadic concept.
II  Laski strongly supported Domestic
Liberty.
I Laski discussed three forms of Liberty,
individual, political and economic.
Select the correct answer using the code -
Code -
(1) Iand I are correct
(2) Iand III are correct
(3) Il and IIT are correct
@) I, II and 1I are correct

86. Operation Black Thunder was - 86.
(1) An action against terrorists trying to
capture Golden Temple.
(2) Launched in order to pacify the
agitation in Maldives.
(3) An anti - insurgency operation against
the LTTE.
(4) The code name for the Indian Armed
Forces operation to seize control of the
Siachen Glacier in Kashmir.
87. A person who fails to get a job in an interview  87.
attributes his / her failure to fate and bad luck.
This type of ego defense mechanism is called -
(1) Denial
(2) Reaction formation
(3) Projection
(4) Regression

/

Freifed § 9 59 v D e wEE

el gRT TR} B IS 'Y

A g

) a9 — =oeen

(3) TR

@) IO g

?ﬁ@r@ﬁﬁﬁﬁwwﬂﬁ &

?

) Hﬂﬂfﬁlﬁﬂ@?@—l‘rﬂ{ﬁﬂﬁﬁ{gﬁﬁw
I 124

(2) et R @Y — 3T
127

(3) TTEaH T Bl SR e
BT — 3T 129

4 mﬁaﬂ%meﬁqﬁwaﬁ
e oo — e 136

Wﬁwﬁﬁﬁﬁ%ﬂ%ﬁ?ﬁaﬂ‘rmw

BITG —

I mﬁ@mﬂ#wﬁaﬁaﬁaﬁw
& MR UR gRue fba |

i ﬁﬁaﬁqwmmﬂm

]

M &S < WA= @ i @l e,
XoiaE 3R anile & ==l B 2

mmmaﬂﬁgﬂﬁwgﬁq—

(1) 179 0 98 &

(2) 1Tqd I gd &

(3 H g IO weE &

@ LI Td I <s &
ITRI RAF &SN ..o, o7 /9 |

(1) wui AR W best B @B BIRET

(2) v § ke B g B o
@ fr2 & R vr Swae AR
@ FER F REnfe wRER w e

TF @fdd o UF TEHR § Sied u
I B WA 8, U WY 3R g e
B! ITREA SERET 81 59 bR DI ATERE
(arEven) gfaT waaml & —

(1) T ERo

(2) wiaferr

(3) weyu

@) UTE (FRETE)
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Who among the following described political
culture as ‘a set of propensities and attitudes’?
(1) Lucian Pye
(2) Almond and Powell
(3) Sidney Verba
;\(4) Alan R, Ball
89. In which of the following book it is said that,
“h\le home of my soul is in the state.”?
(1) The State
(2), New State
(3)\ Principles of Social and Political
¥ Theory
4) Laws
90. Which thinker has singled out political culture
as a factor explaining different patterns of
political opposition?
(1) Lucian Pye
(2) G. Almond
(3) Edmund Burke
(4) Robert A. Dahl

91. With reference to voting behaviour in India,
consider the following statements -
I Voter’s behaviour is influenced by
socioeconomic factors.

II Voter’s behaviour is very much

influenced by religion and caste.
IIl At present the voter participates in the
election purely as ordered.

Select the correct answer using the code -
Code -

(1) Only Iis correct

(2) Only Il is correct

(3 OnlyIand II are correct

(4) Only II and IIT are correct

92, “Polyarchy” as a model of democratic process
the been expounded by -
(1) John Dewey
(2) Samuel Huntington
(3 Robert Dahl
(4) Karl Mannheim

88.

89.

90.

91.

92.

Frafafea § 9 Py wodfifte dwpfa o

oIl e SINgRIET FT W' ®ET &7

O oIRET ag

2) maﬂ?tﬁaa

(3) fTusi @ar

@ T IR §f

5w qeaw | &' T @, W e @1

frary < oo § 217

1 T weS

2) g wET

(3) TiRMew sifF dere oS dififeda
i3

@ <

womiae faRer @ fafte ufawst & e

FR Gl BRE S [ A IS GBIy B

g drel fee § —
1) g O

(2) Tl TS

(3) vsHS 9@

@ € U sEa

YRA § AqeF R & G§9 H [leiNgd

el R faar Fifde —

1 wagel & @d9eR  9miNe —
Rfe PReT W I S B

I dacaRl & 9eR 99 9 Wifd 9
IgT s wIfda BT B

I goaF % gaa # whear Qo
A w9 | 8 9T o 8

HE BT JAN HRA 8¢ HE SR gAY —

EL\E_

1) g IWE §

(2 Pao NS S

(3) @adl IR I 9S8

@) g DR MTE &

ABdiFE UEhaT & U WaH @ w9 §
"diferarmesl” (agd=) @1 ufoures fbar & —
(1) <F SE S

(2) e ETeT A

(3) <fac SEda F

@ & JTH S
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93. “Political culture is a pattern of individual 93. ‘SISFIIRIG WEHRT ISHIGD YU & '
attitudes and orientations towards politics d4 o & ufa afiara siftglimt
among the members of a political system.” AT uiAE & 17 I8 e E[:%T?/
Who said this? 1) Topic TN /

(1) Talcott Parsons (2) T BETR

(2) Herman Finer (3) aTwUS US Ue 1 /
(3) Almond and Powell @) e W ,;’
(4) Eric Rowe /f

94. Which one among the following book is not 94, Fr=ifefed ¥ ¥ P TF gxa® W THER

written by Ram Manohar Lohia? difean gwT e wd 8 7
(1) Ranade, Gandhi and Jinnah 1) e, Tl gue R
(2) Arthshastra : Marx se Aage 2) srefEres : areRy & aEr
(3) Guilty Men of India’s Partition @) T e $Rarg gétem
(4) Hindu Banam Hindu @ fog e R ‘

95. According to Almond, which is not a 95. fHfad # € HRT AME & HER,

characteristic of political development? ]ISHIfde e B faewar 8 87
(1) Role Specialization (D ¥t =
(2) Sub - System Autonomy (2) B — Ty B R
(3) Secularization 3) dfsdE
(4) Sub - System Integration @) T — IR TEBIT

96. Which of the following thinkers asserts thatall 96, ~=foiReg § ¥ &9 fene @ IER,
modern states have a monopoly to use I T Bl Yo REa o — & F 99
legitimate force within a common territory? TRIRT 6N+ BT 98] UHIHR Elar 27

(1) Leon Trotsky 1) fo=Em e
(2) J. Garner (2) W TR
(3) Max Weber (3) g W

97. 'Who among the following was appointed as the 97. e # § e “<rgufy g 2022° &
returning officer for the “Presidential Election fog Refi offfeer & w9 § fge fear
20227 ?

(1) Secretary General of Rajya Sabha 94;[1) G G & ARG
2) Vice President of India : ELRLIS]
ES; Secretary General of Lok Sabha g; m & wErfRE
(4) Chief Election Commissioner of India @) RS T T SIRE

98. In which summit of NAM it was talked about 98.- ‘9 & by G=eN § & a8 RIS
the creation of a new international information AT TRl HOR Rl & e 1 919 dal
and communication system? TS A

(1) Harare Summit, 1986 1) TR PR g=eE, 1986

(2) Belgrade Summit, 1989 ) FIREES Brew W, 1989

(3) Havana Summit, 1879 (3) =TI RRER 9=, 1979

(4) Durban Summit, 1998 @) <aT RRER TR e, 1998
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99,

100.

Whe among the following is considered to be  99.
the interpreter of ‘Pure Theory of Law’?

(1) Hans Kelsen

Y (2) David Held

V(3) Immanuel Wallerstein
‘4) A.Giddens

Wl"niéh' one of the following is
characteristics of Classical Conditioning?
(1), The occurrence of conditioned
* response is. forced reflectively by
unconditioned stimulus.
If was formulated by an American
Psychologist Skinner.

the 100.

@

frr=fefea & 9 59 @ @ fge Rl

PT FETHR THT TAT 87

(1) &9 Foad

2 e TS

(3) TATIYel et

ég%%aﬁiﬂammﬁ Gl

ST

ey 87

(1) 4 I — FPEfeT SEges P ufifdR
U A wogel 9 & g, o 98
AR SIfeha By T &

(2) UE FRPT FHId=TG RFR ERI
IR foar T &)

(3) The reward is contingent upon the o —
- occlirrence of response. gg mvﬁg & aqjiﬁ?;? E‘j\r ?Tﬂ &
(4) Reinforcement comes after the gy 3 :
response is made by the organism. 37 B R
101. According to Article 167 of the Indian 101. YR WfEME & T 167 & WK,
Constitution, which of the following is the ol 4 @ 98 w2 & —
correct statement?
‘(1) Itis the power of the Chief Minister to (1) TSI BT TGRS G JEIHAT P
inform the Governor. wfRT B
(2) It is the duty of the Chief Minister to (2) XY B SN ST T &
inform the Governor. FIT 2
(3) It is the responsibility of the Chief (3) RIS BT AP T T T
Minister to inform the Governor. SeRaT 2
(4) 1t is the both power and duty of the @ N 5 & S5 oy
Chief Minister to inform the Governor. E@ﬁnl ”@El. e 2t %I A
102. Consider the following statements regarding 102. TERUA aTigier (NAM) & wder # f=ifdea
NAM - Fl W AR g —
I  The NAM presently has a membership 1 NAMS T9M ¥ 120 9w a7 &
of 120 countries. I 3@ 9% 18 NAM & RRER THeH &l
II 18 NAM Summits have been held upto TP T
m ;;Z.last NAM summits has been held m NSWWAM 1 siaw WWWW R
at Baku, Azerbaijan in 2020. FE oy _a,ﬁ.qﬁ_zozo 4 e
Choose the correct option - ) 1 HaR s
* (1) I, II and IIT are correct @ W ToiR TEd &
(2) Only Ijand II are correct .
(3) Only I and III are correct (3) P IR I T‘qﬁ %\
4) Oanly Hand III are correct @) Pae MR I &
103. Who among the following was not the member 103. fr=faiRag & & FF9 JRem= wwr & yey
of Drafting Committee of Constituent gfafa or 9w |55 o7
Assembly of India?
(1) N. Gopalaswami (1) T MuTeRa]
(2) Alladi Krishnaswamy Ayyar 9} areeTe FOTTETHY
(3) Dr. K. M. Munshi E:;; <t Eﬁ QH ﬂgﬂ R
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104. Which one of the following is the most 104. Fr=faRag % 9 S Fo= Bry w=fgEm
appropriate statement about Educational % g H waite SUYRT 2? / _
PSYCHOLOGY? 5 (1) IE FARFI B 3T © |

(1) Itis the study of mental illness. (2) u= Rrw, sfeE ud e,q-fa-:m‘je‘mf BT
(2) It is the study of learners learning & SR B A

tez}chlng o ' 3 [T gi% URIETON BT Y %l
Q3 It is the study of 1ntell.1g.ence tests. @) TE FEETHF m ca /e
(4) Itis the study of cognitive processes. 3 /

105. Which article of the Indian Constitution deals 105. 3ITITT & SN 3T]20T 19 @ SusHl $T Fean
with the suspension of the Provisions of Article yRa™ 9T & fea aﬂﬁ?{ ¥ e &7
19 during an' emergency? D aﬂi@?{ 358 (2) aqaz@—q' 359

(1) Article358  (2) Article359 @) oTWT352 (@) IFIWT 357
(3) .Article 352 (4) Article 357
106. In which Adhikaran of Kantilya’s Arthashastra, 106. ®Iieed & SRR & {6y SR ¥ <o
seven organs of the state have been discussed? @ A S @ g, fopa T 87,
8; ‘Si’}?gétVrit» O T v .
adgunya LiSTEs] e
?3) Kantak Sslrlodhan % wew e 1 .
(4) Mandalyoni @) e ¥

107. Which one of the following is the oldest 107. Fr=faiRag & | ®i==y U o™ ﬁ'@?ﬁ

approach of political theory? FT UFEAFH SURH AT ST 87
(1) Philosophical Approach 1) =EiNT SUrRH .
(2) Legal Approach (2) EF,‘IT—ﬁ SYITA ’ c
(3) Historical Approach (3) IEREF UM
(4) Institutional Approach @) wiente SaH

108. The objectives of E - Panchayats in Rajasthan 108. Iorel= # § — TdRM & S59d & —
are -

I To increase .the productivity of 1 122 T B 1 B b G o MR e s L
Panchayati Raj department

I The streamlining of the internal O I Rera-edv vad o RYnT
process of the rural development and Y sraR® wiFT B geraRieReT
Panchayati Raj department M aEor Rl & 9 da"

I Speedy collection of rural problems T
onl Ripeq &

Choose th); correct option - W E- L

1) IILII @) LI (1) LIL I @) LI

@) LI @) ILII 3) LI (4) I,

109. In which one of the following phase in syntax 109. IR T Ea wHiew 3! Rrcaa @1 -
of the advance organizer model, prompt e ¥ slRvHear @ ';ﬂ'\qﬁl?.ﬁ s @R
awareness of leaners relevant knowledge and aﬂ'ﬂﬂ’[ B ThIe STHGERT IB=T 87
experience is required? (1) IR s B PEGIRER)

(1) Presentation of learning task @) =R ﬁm BT m—gﬁwvr
(2) Presentation of learning material (3) i WTeE BT TR
(3) Presentation of-advance organizer @ G?I'Fﬂﬂ?ﬁ e wr WW
(4) Strengthening cognitive organization
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“Because of circumstances that havenow come 110, “¥gerl g8 IRRIfA & HRoT g — 399
\ into being that states have become, whether e T UhlcHS 8 & I7 TS, gferq T
* federal or unitary, welfare states from being H AP HAUIBRT ST §5 T © 3N 2T )
police states and the ultimate responsibility for 3rfeYes qgg]gﬁﬁ &1 sifg SRR B
* economic well being of the country has become RPN BT ﬁ T
the paramount responsibility of the centre.” I T Y —
Who said.thc above Statement? 1) AR SREER BT
(1) Bhlmrap Ambedkar 2) AR o S5 P
(2) Jawaharlal Nehru 3 aQ _—
(3) T.T. Krishnamachari R e
(4) Rajendra Prasad (4) ST TR P
111. At adolescent stage of development the 111. fmr @9 fPuREEen ¥ R & T § ¥R
physical changes in body proportion in relation ST T ANIRSG TRT e ¥ —
to head is -
4)] Head becomes one third of the body 1) R MR 371 % R & o ©
(2) Head becomes one sixth of the body (2) R ¥R 1 BT 9T & SR ©
(3) Head becomes one eighth of the body (3) R ¥RR 3T 3sal W1 8 S0 &
(4) Head becomes one tenth of the body @) R ¥R FT g|a 9r 8 San &1
112. Body language is an example of - 112. IRIRG A9 ISR & —
(1) Verbal communication @) wfsssd U9 BT
{2) Non - verbal communication (2) 3r3nfess FUYIT &7
(3) Barrier in communication (3) U § qET BT
(4) Media of communication @) <N D wEET B
113. According to John Locke, the state of nature 113. G- @f& & IR, WHRid RN BT IR
was governed by - e <imar & —
(1) Basic instinct O 7= ggl%—r B ERT
(2) Mutual - cooperation (2) UYREGR® GEART & NI
(3) Religion 3) T & gRI
(4) Natural law () m-cfm fafy & exr
114. Who among the following is the titular head of 114. F=feRad § q B9 ST B T T THIAE
the Canadian state? Eal ﬂﬂ@_%"?
(1) The Chancellor (1) =R
(2) The President (2) wrsgfy
(3) The'Governor General @) AR TERd
(4) British King (4) fafeer <o
115. Who among the following said that, “The 115. Fr=faRaa § & a8 fFwa wow 8 & el
whole of Renaissance was in Machiavelli”? SR Afdarder + & 87
(1) G. H. Sabine (1) . g9 99EA
(2) H. Laski (2) T R
(3) E.Barker 3) T 9w
(4) W. A. Dunning @) s=g T SFhT
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correct answer by using the code given below -

List-I " List-11
(Name of Book)a;m ; (Author
Name)
(a) The Process of W(i) Robert Dahl
Government
(b) The Governmental (ii) J. D. B.
Process Miller
(c) Who Governs? (iii) Truman
(d) The Nature of (iv) Arthur
Politics Bentley
Code -

(1) a-(ii), b- (@), c - (ii), d - (iv)
(2) a-(ii), b- (iv), ¢ - (i), d - (ii)
@) a- (i), b-ii), c - (iv), d - (ii)
@) a-(iv),b - (i), ¢ - (i), d - (ii)

/

116. Match List - I with List - IT and select the 116. &t — IH1 Gl — 11 ¥ da1 FHIRTT 3k Ry

TG HE 4 ¥ [oT SR BT a4 BiIg —

@ -1 LCURS 1§
(T &1 -TF) GicEdkal

(@ T WO Iw 3§
TgHE
tb) T TaHeel TR (ii) @f I 9l

gc), FRIERIT (iii) Qﬁﬁ

(@ T =R Sw (iv) smeR ded
1 diferfeaa

m —

(1) a~ (iii), b — (@), ¢,— (ii), d — (iv)

(2) a— (iii), b — (iv), c — (i), d — (iD)

(3) a— (i), b— (iii), ¢ — (iv), d — (i1)

4) a-(iv), b (i), c— (1), d - (ii)

117. Which of the following methods were 117. <. U THel 1 oy s # Fr=iioRaa # 9
employed by J. S. Mill in his philosophical T TEfat @7 TR by 27
study? o ] o '
(1) Historical and Geometrical (1) e SR SR
(2) Physical and Historical (2) “iifcep 3R g
(3) Spiritual and Historical (3) omfas ik Wefe
(4) Physical and Geometrical @) it oiR wfcha
118. Which one of following pair is not correctly 118. FF=felRed o ST @ I el Fofera a1
matched? &2,
(1) Aspects of Political Development : (1) wUTcH i difdfedd STeUHe ¢
Lucian Pye ?g’ﬁTﬂ:[ tn-s‘
(2) The Stages of Political Development : (2) T W % vifefers Saagie :
A. F. K. Organski N T TP, B. GTFﬁT\HHﬁ
(3) Comparative }’oht;cs : A Development (3) Eﬂﬂﬁ%’c{ ‘ZIT%[%W T g
Approach : Sidney Verba W ﬁ-‘]@‘v‘ﬁ gt
(4) The Challenge of World Poverty : w ]
@) T Feiw 3ifp g dfedt : TER
Gunnar Myrdal - A
119. Who among the following theorist was used 119, P # & 5w Righor 3 sy
constructivist analysis to provide a critique of el # AquaridE ok q9saraE gFl @
both neorealism and neoliberalism 1in mﬂ:ﬂ' Girc %’g TFETETET e &7 AT
international relations? e
(1) Richard K. Ashley "(1) Rae 3. e
(2) Alexander Wendt ‘(2) @a@g-\r dse
(3) J.B.Peterson (3) ﬁ 9. dreq
(4) Jon Runyan f ‘(.4) Eieiauiy
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<

-120. “The fail of the Berlin Wall marked:the end of 120. "sfe & R & A=y ¥ qTLE I B
the long war between liberal, faséism and TRNE WEY B gRYIT & & oy Ser,

communism to define the Constitutional form wrdlae R g=ae ¢ 9 T 8 oy IE
3 of the nation state.” Who said this statement? @ &g o Rifea fFar” a8 eu [rger 87
(1) Francis Fukuyama = 1) iR ST
3 ; 4 ER L
(2) Eirikur Bergmann ! ! ) Qﬁ?j\' T
3) Martin Lipset , » @) i R
(4) Philip Bobbitt g
) Philip % @ Rrfem afe
121. Match List - T with List - IT and select the 121. §i — I 1 gl — 11 9 9 #ifog sk &y
correct answer by using the code g1ven ' below - Q¢ HE H 9 98 9N &1 999 a%’rﬁrq —
List~ I List - I1 @ — 1 @i — 11
(Name of (Year of (ISR <t BT CCIEEIEL))
Political Party) Formation) )
(a) Communist Party (i) 1992 () 9RAE  9FREEr (G 0 1992
of India (Marxist) A T (ATERard)
(b) Janata Dal (i) 1972 (b) GIFCT &<t (i) 1972
() All India Anna (i) 1988 (c) otRaa HRAME (i) 1988
Dravida Munnetra . A= wlas ﬂ‘sﬁf
Kazhagam, 5
(d) SamajwadiParty (iv) 1964 (d) FHANEE] (iv) 1964
Code - Re -
(D) a-(iv), b - (i), ¢ - (ii),-d - (i) (1) a-(v), b-(ii), c - (ii), d — (@)
@) a- (i), b - (i), c.- (v), d - () @) a- (i), b~ (iii), c ~ (iv), d- (i)
(3) a-(iv), b- (i), c - (i), d - ). () a-—(iv), b- (i), c — (i), d - (@)
@ a- (i), b - (i), ¢ - (i), d - (iv) ¢ @) a-(ii), b— (i), c - (ii), d - (iv)
122. Match List - I with List - H and* éelect the 122. Qﬁﬁ — I 1 Yfrfﬁ — I ¥ ¥ Pifig &R f3u
correct answer by using the code given below - I T H ¥ U SR BT I P —
List- I List - IX T -1 & ~ 1
(a) Scientific Value (i) Aristotle (a) sl 70— (i) INE]
Alternativism, ¢ TTierars
(b) Political Science (ii) Bismarck (b) WA R Gi) R
is a Architectonic ¢ e e R
Science : ’ R 2
(c) Politics is the Art (iii) Charles B. © <o e e ) el @
of the possibility Hagan Y N~ 3 S ’
d) Political Scientists (iv) Afnéld .
@ are an Army of ) Brecht (d) T — | IE‘IEﬁI T (iv) awajc_%’
Polyglots 'y ?ﬁ?ﬂ_%” UERY
Code - -
(1) a-(),b-di), c-(@v),d- (i) -
@ a-(i),b-®),c- ), d- (i) « gi 2" 83) bb (8 °- 83 g 8:3
(3 a-(v),b-(3),c- (i), d - (1ii). i~ (3) a-—(iv), b (i)’, oo (ii): d ~ (i)
@ a- (i), b- @), c- (), d- (v, L. @) a-— (i), b~ @), c  (ii), d - (iv)

I’-i
S
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123. Who was the Chief Minister of Rajasthan when 123. WoReiM # 734 Ud 74d <fuw  weiRM

124.

125. Christopher Pierson gave eight main features of 125.

the 73" and 74® Constitutional Amendment
Act was implemented in the state?

(1) Haridev Joshi ‘

(2) Shiv Charan Mathur

(3) Bhairon Singh Shekhawat

(4) President’s Rule

Assertion {A) : National Integration is a
psychological and
educational process by
which the feeling of unity,
feeling of equal citizenship
and love for the nation is
developed in the hearts of
all the people.
National
Council was established to
establish national unity and
spread the spirit of
nationalism.

Reason (R) : Integration

@
)

3
“@

Both (A) and (R) are true and (R) is the
correct explanation of (A)

Both (A) and (R) are true but (R) is not
the correct explanation of (A)

{A) is true and (R) is false

(A) is false and (R) is true

the modern state on a factual basis, which of the

124.

ARfEM & F] B 9HT NSE & gegHE

B o7

(1) < Sl

(2) RE=RT 9RR

3 RiRiE sEEa

@) Ul e

BT (A) : E thar U@
Fase ik fde
g g, Rs grr
o dam @ el #
THdl $I |G-, Fa

ARG B AT SR
e @ g 99 P A
?ﬁfﬁﬁm%mw
|
PRI (R) : ASE  THAT  RIud
P T TS DI
AT & TR & TS
UHhal GRYe @ R
P TE |
(1) =M (A)TE (R)9E! € @H (R), (A)
P el IRAT B
) = (A)TE R)EE E /G R), (A)
B TE AR T8 B
(3) (A)wE g 3R (R) e d ©
@) (AT g 3R (R) W& &

R fUee o Teuris AR R e
I P S FRmA] garE, Fied d |

following feature he did not discuss? frg fa9yar ) ==t S99 =S @17
(1) Sovereignty 1) auEn
(2) Citizenship (2) =R
(3) Control over the means of use of force (3) 9o AT & GRF WA
(4) Fundamental Rights @ o IRBR
126. Who wrote the book ‘The Nadars of Tamilnad: 126. ‘T igd i THeS : € Uifellcdmd Hoax
The Political Culture of a Community in dw T HgFS 5 AW gwe e fordl
Change’? 87
(1) Robert L. Hardgrave (1) <iee Ta. T=I9
(2) Christopher John Baker (2) frwemr 9F Jx
(3 M.S.S. Pandian (3) T4 UH. . UifeaHT
(4) A.R. Venkatachalapathy @) T 3R, JPcTTR
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127. According to Piaget’s cognitive theory of 127. fraey & Weriews fiem Rigrd & sgar
-development, the learner’s system of mental IfrEEar & Wﬁﬁﬁﬁ fpad 9=m ol &
operatiochs has reached a high degree of A IHIOT 9 g5 SIRil ?}| g 3[Rl & —
‘equilibrium. This stage is - (D NuERe Gharcas
‘(1) The formal operational 2 T ﬁ;‘q‘]—qa;

(2) The pre - operational @) = s

(3) The concrete operational @) [T

_ @ The sensorimotor :

128. Which'of the following is not included in the 128. fF=fad ¥ ¥ @9 o. T, A &N gaE
‘Sanction of Utility as mentioned by J. S. Mill? TR SR @) A ﬁ @ frfer T 27

) Physical (1) sn's?iﬁzﬁ

'(2) Moral @ e

(3) Public @) TEENE

(4) _ Economic p @) anietm

129. Which of the following is recognized as the 129, WRT & &I IraroMI o ‘HoM 3R Gy
“first-most prominent movement’ among the AIhdaR SRR & W9 ¥ Uga oy § —
regional .mdvemepts in India? (1) U ARSIl

(1) Greater Nagaland Movement (2) ¥HET IERT AFRIET

. (2) Narmada Bachao Movement 3) cfos st

(3) Dravida Movement @) = e

(4) Bodo Movement

130. According to the constructivist view of 130. dga o RS gfedm & ouR,
Vygotsky, a technique that involves changing A & %rq WERET @ &R § uRadd @
the level of support for learning is called - gitaferg &1 BT do6iid DRl & —

(1) Thought processing (1) frar ufsm '

(2). Thought reversing (2 =R ufeds

(3) Zoneof proximal development ) U ReN B e

4) Scaffoidmg @ ST

131.. Consider the following statements and select 131. Fr=ifpad Hori W faar HIRT ik 99 Ry
the correct code given below - el HE DI FAY —

() Christian Bay described behavioral (H THRTm 9 9 FeEraK IoHif
Political science as a distasteful and e o o aofaey td kg
dull Pdlitical science. o IS S|

(II) Value neutrality means not to examine ) Jeu RUs@r. @1 sl emeuR®
any -political subject from subjective el ¥ Bl weFifie vy &1
point of view. oEToT el BT B |

Code - 6T —
« ¢ (1) Only(D) is true (1) @aer () &g &

(2)* Only (II) is true (2) @& ()T 2

(3) Both (I) and (I) are true (3) (O D) =Ff e

(4) Both (I) and (II) are false @ (DTE (D) S I &

132, Who said “The pure idea of democracy, 132. “WIbo= ®I GRWEl & IIUR T [AgE

: accordlng to its definition, is the government of R a8 & 5 99 A &7 & ER 99F
the whole people by the whole people, equally wT A gfafeg o 27
represented.”? . 1) oI BT

(1) Laski @) e e &

.(2) Abraham Lincoln. 3) . T4, e @7

3) J.S.Mill @) AT T

4)_ Garner *
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133. Assertion (A): The concept of territory of 133, HA(A):
India is broader than that of HHeqWT WA §Y J
the Indian Union. 3 fasd &

Reason (R) : In the territory of India, the BRI (R) : YRT B . ;FR’-T — g3 f
territories of the states, the TS B USO-8F, 99
union territories and such I — B qer VY oy
territories as may be — & < sk e o,
acquired are mentioned in I Torg wuE @
Article 1(2) of the GTﬂi@o—c{ 12y # far AT
Constitution. -

Choose the correct option - - ,\% !
. & fawer o gfg —

(1) Both (A) and (R) are true and (R) is the (1) S (A) a2 BRI (R) N T8 &

correct explanation of (A) @I (R), (A) BT W] R % "

(2) Both (A) and (R) are true but (R) is not 2) % ((ﬁ)) ?ZI)T %w %fr § .

the correct explanation of (A) &) %BQFI (A) T & fa=g N1 (R) Hal

(3) (A)is false but (R)is true @) DU (A) T BRI () ﬁ,m

(4) Both (A) and (R) are false ¥ _

134. “Sclf Respect Movement” was started by 134. "SISTOIN Migia” {9 gRT AR &9 URY
whom and when? o = er?

(1) Jyotiba Phule - 1872 (1) SaifdEr et — 1872 te

(2) E.V.Ramaswami Naicker - 1925 (2) % 9. IFEE e — 1925

(3) B.R. Ambedkar - 1930 @) & o= sisaR — 1930

(4) Pandita Ramabai - 1915 4) deT FEE — 1915

135. According to Jawaharlal Nehru, ‘Religion’ is - 135, SlOERdle &6 & SR, T —

(1) Divine consciousness of human being 1) w1 9t R =e .

(2) Intellectual interpretation (2) difge = !

(3) Virtues related to internal life of an () | @ siaRe SheT 4 gk o

individual @) e gepmr L
(4) Unscientific viewpoint .
136. Which of the following statements is / are 136. f=ifed § ¥ $N 91/9 FoF Aemied &
correct about ‘Superpower’? IN | GE T /57
() William Fox was first used the term (D fofes wifed gR1 TSl 9R. 1943 o
‘Superpower’ in 1943. FUWIER' TS BT TwMTe fbar rar
(I} According to him, The United States, o |
The Soviet Union and The Britain were (D S IR, W TS AR,
o SRETRONEES. R W SR R e &
oose the correct option - 8 B
(1) Only (I)is tru(l; and (II) is false e P -
. : (1) Baa ) E & AR Q) o §

(2) Only (ID) is true and (1) is false _

(3) Both statements are true 2) W (I ¥ & SR (D) 7w

(4) Both statements are false (3) T TR e §

@) < B T § .
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137. A cooperative learning approach in which team 137.

members work on content that has been broken
down into parts. Each team member is
responsible for a part. Members of different
teams who have studied the same part convene,
discuss their part and then return to their teams,
where they take turns teaching their part to
other team members. This approach is known
as -

AT H ooy favaaw] ™ o o € | E
P TS G5 TP 91 & g Suxar) &1
2, AcTeY SueT WA, afkeal o & 3R
Y oo WE # diea] 3N WE B
WERIT BT AU T @l RBrm ke &1 98
TUNT HEaT & —

(1) Learning together (;) N
(2) Group investigation (2) T o
y 3) rE @R, wer
(3) Jigsaw classroom
(4) Cooperative scripting (4) wEANT o
138. Which one among the following characteristics 138. #faraell & figa & ey # F=felag § &
is incorrect regarding Machiavelli’s thought? PIFAT B Ffeqol 87

(1) He propounded state craft theory. 1) sSw Tl Rgea afmfea

(2) Enlightened tyranny is necessary to tie foan|
corrupt people into the thread of (2) W< ARl B URE B G H aG_E D
governance. 1Y Ugg TRIGA IaEF T

(3) In principle, the republican system is 3) NENT TUEA" WEd Y9Tel
not the best. waH 8T B

(4) He was fierce critic of the condottieri 4) T8 Pielfcw A ® °R
system. JTeas o |

139. Consider the following statements and select 139. F=foiRaa woAl W fer HRT Ton =
the correct code given below - f“a‘q HE HE BT T PING —

I Charles Edward Merriam considered ?,na:f TSge AR INRRETT e
traditional political science to. be dry, s & g, sliymie, wefe,
formal, animal, barren, ghostly and For, Uaad =ik Wifde \rear o)
static. _ L I 9 5 99 — uikanl o Bree

II Bentley established a tradition of &7 TR €Tl |
examining group processes. o —

Code- 1) ger () G ¥

(1) Only (I) is true

: (2) Haa (ID) 9 &

(2) Only (II) is true 2t 3

(3) Both (1) and (II) are true (3 O Td () IH T

(@) Both (D) and (ID) are false @ @ v A I sy €

140. Read carefully the following statements - 140. =/ wel & qfey —

I Arcle 329 is related to bars to L ogme 329 fiafeem amer #
interference by courts in ‘electoral Ol B OERAEY B o 9 Qe
matters. =4

II. Article 329 A was omitted through the I 44 § Wfge weRM N egw
44" Constitutional Amendment. 329 % % e R S [y

Choose the correct option from the following - = % 9 98 ooy &1 9T BT —

(1) Only statement I is correct (1) &I FoF 1 TS &

(2) Only statement II is correct (2) dae S I & B

(3) Both statements I and IT are f:orrect (3) = BYT I v I8 &

(4) Both statements I and II are incorrect @) TN P I e 11O T €
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141. What is the procedure for appointment of 141. I WRGT W EEHE  aEuieidT
Judges in the Federal Judiciary (Supreme Soad Oer) § wErEel o Fgia
Court) of the USA? ( _ )

(1) Nomination by the; President and - : GRIER
approval by the House of @ TKIR EN ta Rl
Representatives I gfte

(2) By the senmate through collegium (2) WiRH TR & ARTT § 9He
system _ BRI

(3) Nomination by the President and (3) TUly gRT FAEE e g1 5@
approval by the Senate @) ¥re gy @ gie

(4) Both nomination and approval by the v
Senate

142. With reference to Aristotle, consider the 142. 3R®] & W= ¥ F=fafRag wsa@el an
following terminology or docirine - e ) AR S —

I  Form of the triangle I ¥ 3% § gNId

I  Moderate democracy I € dsas

III Doctrine of forms M Sidg % Bk

IV Doctrine of golden mean v w@fF A % e

Select the correct answer using the code - FE P TN HJ §Y el R gHY —
Code - e —

(1) Only I, IIT and IV are correct (1) oo IL I 3R IV I8 &

(2) OnlyI, II and IV are correct (2) daa LI R IV 98 §

(3) Only I and IV are correct 3) @ad IR IV ¥ &

(4) Only II and 111 are correct @) daa AR I & &

143. Who was the first speaker of British House of 143. fifter oiv w1 & wom wigR 319 o?
Commons?

(1) Robert Walpole (1) e T

(2) Thomas Hungerford (2) ¥ ERBIS

(3) Dicey (3) =

(4) Robert Nozick @ < [ifre

144. Read the following statements carefully - 144. 71 99al & FAEF 9oy —

I The Council of Ministers is I ARgRye 9 @ 9fg Q:[ch"%q; T Y
collectively responsible to the SRR &

Parliament. i~ . -

I The Council of Ministers is an I JERILE E”_]E‘ @ & A "Ei_
Executive = Committee of the 23N 9 ¥g @ Ul & wa A
Parliament and it collectively governs Arffed w9 T UMY B 2
on behalf of the Parliament. w8 fdFeq ggaiT —

Choose .the correc.t option - 1) 1989 7Toa 2

(1) [1istrue, IIis false @ 179 T I s 2

(2) Iisfalse, Il is true 3 19 IaR s

(3) BothIand II are true o RS

(4) BothI and II are false @ I3l teld &

145. Which of the following country was not a 145. 1967 ¥ REM & o & w9 fFr=fafaa
member of ASEAN at the time of its formation ¥ 3 P < THPI A o] AT7
in 19677

(1) Indonesia (1) SUSHRM

(2) Laos (2) TR

(3) Singapore 3) ﬁl”Tl’ER’

(4) Philippines @) ek
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146. Who determines the number of Supreme Court 146. 3FMR®T § Seaad U™ Ef? TS @
Justices in America? AT BT RN B wear 87
(1) President (2) Senate (1) U 2) e
(3) Constitution (4) Congress (3) s @ FIE
147. Which pair of the following countries is the 147. =ifba <eoi & ®rFw RG]
best example of limited presidentialism? IEILTATIE BT IS SIENT 27
(1) America - Canada (1) RSB — PRI
(2) France - Finland (2) W™ — fhcive
(3) Britain - Brazil 3 &= —  HeE
(4) America - Switzerland @) s _ ﬁﬂﬂ\_ﬂ?’\fﬂ@'
148. The concept of Computer Aided Instruction 148. "B+ TTHD GJ'T%EH Eﬁ e e ad L]
(CAI) was invented in which year? off?
(1 1920 (1) 1920
) 1925 (2) 1925
(3) 1950 (3) 1950
@) 1954 @ 1954
149. Who decides the questions relating to the 149. YR Hfau & Gﬂ”i@‘q’ 103 & ¥R, HHg
disqualification of the members of the el B Fdael @ 'ﬂirf?\ﬁ T R
Parliament as per Article 103 of the Riftee P Pear 87
Constitution of India? ) fgtae amanT
(1) Election Commission (2) Hal= <IEe™
(2) Supreme Court (3) BT Ay
(3) Speaker 4 U
(4) President
150. Consider the following statements and select 150. it oM R RN A -qer 5 fey
the correct code given below - el | DI TIT HISIG —
(I) Empiricism is considered the last link (D) <oFiflg fagm ¥ Bl
of traditionalism in Political Science. RERMEE & i S 791 war 21
(Il) John Locke is considered the father of (D) 2MIFe T F S e BT g
empiricism in the modern era. BT SFIP M1 oAl 2|
Code - HT — )
(1) Only (I) is true
(2) Only (II) is true M) P O ¥
| (2 $a () &4 8
(3) Both (I) and (II) are true @) (T ) T e
(4) Both () and (II) are false @ (O ) o araa ¥
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